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pKal= 2.95 Kal=0.001122
pKa2= 5.41 Kaz2= 3.89E-06
pH [H+] x_H.A x HA X _A”

1 1.00E-O1 9.89E-01 1.11E-02 4.32E-07
1.5 3.16E-02 9.66E-01 3.43E-02 4.22E-06
2 1.00E-02 8.99E-01 1.01E-O1 3.92E-05
25| 3.16E-03 7.38E-01 2.62E-01 3.22E-04
3 1.00E-03 4 70E-01 5.28E-01 2.05E-03
3.5| 3.16E-04 2.18E-01 7.73E-01 9.51E-03
4( 1.00E-04 7 90E-02 8.87E-01 3.45E-02
45| 3.16E-05 2.45E-02 8.69E-01 1.07E-01
5 1.00E-05 6.38E-03 7.15E-01 2.78E-01
55 3.16E-06 1.26E-03 4.48E-01 5.51E-01
6/ 1.00E-06 1.82E-04 2.04E-01 7.95E-01
6.5| 3.16E-07 2.12E-05 7.52E-02 9.25E-01
7 1.00E-07 2.23E-06 251E-02 9.75E-01
75| 3.16E-08 2.27E-07 8.06E-03 9.92E-01
8| 1.00E-08 2.28E-08 2.56E-03 9.97E-01
85| 3.16E-09 2.29E-09 8.12E-04 9.99E-01
9 1.00E-09 2.29E-10 257E-04 1.00E+00
95| 3.16E-10 2.29E-11 8.13E-05 1.00E+00
10 1.00E-10 2.29E-12 2.57E-05 1.00E+00
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